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1000/c 2do)/d(m_1 + m_2) [1/GeV]

|
<
N

- -
H
o < <,
R AR AT AL L A R R R R AL N N AL

=

H
o )
& 1,

<
N

|
<
ol

[EEY

0.5

70

IOO GIeV Pp

1 1 T T T T 1
Jet Mass (anti-kT(o.7), 2500<pT<600, ly|<2.5)

CMS

Pythia 6.423 default
Pythicic. F2Mpig-q2
Pygieko P2 Rpg-qpo

2 "y
%,

)

N
: *. m
‘- L

u
o

-
*,

ﬁ.-"‘n....
B

IIII|IIII|IIII{IIIIIII| IIIIIII;T( IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

|
|

5

M I N T TR | .
100 200
(m_1+m_2)/2[GeV]

Rivet 3.1.0, = 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


